
 PERMUTATIONS 

 Simplify 
 5  P  3  =  4  P  2  =  9  P  1  =  10  P  10  =  n  P  4  = 

 5! =  7 !
 6 ! =  10 !

 8 ! =  𝑛 !
( 𝑛 − 2 )! =
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 PERMUTATIONS 

 HSC EXT 2017 (not permutations) 

 The probability that a particular type of seedling produces red �lowers is  . Eight of these seedlings  1 
 5 

 are planted. 
 a)  Write an expression for the probability that none of the eight seedlings produces red �lowers. 
 b)  Write an expression for the probability that at least one of the eight seedlings produces red 

 �lowers. 
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